


210 ha |

17

21

17

21

3,861 H16 3,971 H21
37,000 H15 55,000 H21
20,000 H15 24,000 H21







829 | 331 | 04
L=500m H17 H17 H17 H17 75 75 75 75
L=170m H17 H17 H17 H17 35 35 35 35
L=160m H17 H17 H17 H17 9 9 9 9
L=180m H18 H18 H18 H18 15 15 15 15
A=4,672 H20 H20 H20 H20 50 50 50 50,
A=3,360 H17 H17 H17 H17 40 40 40 40
A=21,780 H17 H18 H17 H18 115 115 115 115
A=2,645 H17 H21 H17 H21 114 114 114 114
L=1,870m H18 H21 H18 H21 116 116 116 116
L=392 H19 H20 H19 H20 19 19 19 19
A=3,000 H17 H17 H17 H17 41 41 41 41
629 629 629 0] 629]...
H19 H21 H19 H21 8 8 8 8
A=5.0ha H19 H20 H19 H20 119 119 119 119
L=70m H19 H19 H19 H19 15 15 15 15
L=110 H19 H19 H19 H19 9 9 9 9
A=550 H20 H20 H20 H20 25 25 25 25
)
)
10,000 H18 H18 H18 H18 1 1 1 1]
H19 H21 H19 H21 4 4 4 4
H19 H21 H19 H21 19 19 19 19
200 200 200 0] 200]...
_(A+B) 829
o
103 o H12 H20 1,989
L=2,120m o H15 H19 357
L=580 o H13 H17 320
170 o H15 H17 280
2,946




386 16 - 3971 21
37,000 15 - 55000 21
20,000 15 - 24000 21
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